Price list for Civic Type R TCR

Total Price for

. - . Initial spare .
Design numbers Descriptions Retail Price / each ked Initial Spare
pac packed
FRONT SUSPENSION COMPLETE R
H56-D-0357 FRONT UPRIGTH NO ASSY € 821,43 € -
44300-SWW-E01 FRONT BEARING ASSY € 159,63 € -
H56-D-0052_ ACKERMAN BRACKET € 191,67 € -
H55-D-0325 FR LOWER WISHBONE ASSY COMPLETE € 637,50 € -
H55-D-0307-2 PIVOT STUD € 41,67 € -
H56-F-0054 FRONT ARB 22MM € 270,00 € -
H56-F-0055 FRONT ARB 19MM € 270,00 1 € 270,00
H56-F-0053 FRONT ARB 24MM € 270,00 1 € 270,00
H56-F-0361 FRONT DROP LINK ASSY € 163,28 € .
H56-F-0085 ARB CLAMP € 77,50 € .
H55-H-0406 BRAKE PIPE ASSY SUSPENSION € 59,50 € -
CP9660-354L FRONT CALIPER LH SIDE € 1.083,33 € -
CP9660-254L FRONT CALIPER RH SIDE € 1.083,33 € -
H56-H-0084 BOBBINS KIT FRONT € 79,80 2 € 159,60
H56-H-0060 FRONT DISC BELL € 208,33 2 € 416,67
H56-H-0081 FRONT DISC LH SIDE € 565,29 1 € 565,29
H56-H-0082 FRONT DISC RH SIDE € 565,29 1 € 565,29
25.922.01/RX BRAKE PADS SET FRONT € 389,17 1 € 389,17
H56-H-0135 FRONT LEFT BRAKE COOLING DUCT € 200,00 € -
H56-H-0136 FRONT RIGHT BRAKE COOLING DUCT € 200,00 € -
DAMPERS -
H56-D-0355 FRONT LEFT DAMPER ASSY(COMPLETE WITH PLATFORM,STRUT) € 2.166,67 € _
H56-D-0356 FRONT RIGHT DAMPER ASSY(COMPLETE WITH SPRINGS,PLATFORM,STRUT) € 2.166,67 € .
H55-E-0283 REAR LEFT DAMPERS OHLINS 2 WAY(COMPLETE WITH SPRINGS,PALTFORMS,END EYES) € 1.166,67 € -
H55-E-0283 REAR RIGHT DAMPERS OHLINS 2 WAY(COMPLETE WITH PALTFORMS,END EYES) € 1.166,67 € -
SPRINGS SET VARIOUS RATES(set of 2 springs) € 206,67 4 € 826,67
H56-D-0045-1 TOP MOUNT LEFT ASSY € 280,42 € .
H56-D-0046-1 TOP MOUNT RIGHT ASSY € 280,42 € _
BODYWORK -
H55-C-0557 REAR BUMPER (NO PAINTED) € 1.000,00 € -
H56-C-0345 FRONT BUMPER (NO PAINTED) € 1.085,71 € -
H55-C-0559 FRONT FENDER LH ASSY(NO PAINTED) € 642,86 € -
H55-C-0560 FRONT FENDER RH ASSY(NO PAINTED) € 642,86 € -
H55-C-0565 REAR BODYSIDE ADD-ON (NO PAINTED) € 457,14 € -
H55-C-0566 REAR BODYSIDE ADD-ON (NO PAINTED) € 457,14 € -
H55-C-0563 REAR DOOR ADD-ON LH (NO PAINTED) € 428,57 € -
H55-C-0564 REAR DOOR ADD-ON RH (NO PAINTED) € 428,57 € -
H55-C-0551 SIDE SILL LH SIDE ASSY(NO PAINTED) € 642,86 € -
H55-C-0552 SIDE SILL RH SIDE ASSY(NO PAINTED) € 642,86 € -
H55-C REAR WING FIXINGS € 78,57 € -
H55-C-0544 REAR WING ASSY € 392,86 € -
H55-C-0562 SPLITTER ASSY € 1.200,00 1 € 1.200,00
H55-C-0813 SPLITTER SUPPORT LH € 214,29 1 € 214,29
H55-C-0813 SPLITTER SUPPORT RH € 214,29 1 € 214,29
H56-C-0313 SPLITTER SUPPORT CENTRAL LH € 170,00 1 € 170,00
H56-C-0314 SPLITTER SUPPORT CENTRAL RH € 170,00 1 € 170,00
WINDSCREEN AND ACCESSORIES -
73111-TVO-E11 FRONT WINDSCREEN € 306,00 € -
FRONT BULL-BAR ASSEMBLY COMPLETE -
H56-C-0192 BULL-BAR ASSEMBLY € 678,57 € -
H50-B-0692 FRONT TOWING STRAP € 30,83 € -
REAR CRASH BEAM-COMPLETE ASSY -
H55-C-0632-1 REAR CRASH ASSY € 514,29 € -
REAR SUSPENSION COMPLETE -
H55-E-0235-1 REAR TORSION BEAM ASSY € 1.066,67 € .
H55-E-0241-2 REAR LEFT HUB SPACER € 166,67 € .
H55-E-0242-2 REAR RIGHT HUB SPACER € 166,67 3 -
H55-F-0272 ARB 30 £ 233,33 1 £ 233,33
H56-F-0211 ARB 28 £ 233,33 £ -
H55-F-0254 REAR ARB DROPLINK ASSY € 66,67 € .
H55-F-0248 ARB CLAMP € 68,33 € .
52210-SMG-G0O REAR HUB SHAFT LH € 173,33 € -
52200-SMG-G00 REAR HUB SHAFT RH € 173,33 € -
H55-E-0282 ASSEMBLY REAR BEARING HUB € 187,13 € -




H55-H-0219-2 REAR BRAKE CALIPER SUPPORT € 63,33 € -
H55-H-0338 BRAKE PIPE ASSY REAR SUSPENSION € 70,83 € -
CP4586-5E0 REAR CALIPER LH SIDE € 435,00 € -
CP4586-6E0 REAR CALIPER RH SIDE € 435,00 € -

25.923.00/RW REAR BRAKE PADS € 133,33 1 € 133,33
H55-H-0236 REAR BRAKE DISC € 95,23 2 € 190,47

FUEL SYSTEM ASSEMBLY -
H56-T-0256 FUEL CELL ASSY € 2.600,00 € -
2410201 MULTIFUNCTION VALVE (ROLL OVER) € 283,33 € -
WHEEL ASSY -

DW-M12X1,5 Wheel nut M12x1.5 € 3,33 20 € 66,67
H55-U-0345 JAS TCR RIMS € 216,50 24 € 5.196,00

H55-U-0250-1 WHEEL STUD € 16,67 € -
H47-U-122-3 WHEEL SPACER 5mm € 33,33 4 € 133,33
H47-U-121-3 WHEEL SPACER 2mm € 25,00 4 € 100,00
H50-U-0235 WHEEL SPACER 10mm € 50,00 4 € 200,00

EXHAUST SYSTEM -
H55-K EXHAUST PIPE UNDERCAR ASSEMBLY(AFTER TURBO UNTIL CAT) € 2.416,67 € -
H55-K CATALICTIC CONVERTER € 676,67 € -
CLAMP V-BAND € 55,97 € -
SND-LAMDA-EUR4 LAMBDA SENSOR € 608,33 € -
H56-K-0220 EXHAUST MANIFOLD € 2.916,67 € -
H56-K-0254 EXHAUST INSULATION € 583,33 € -
TRANSMISSION ASSEMBLY -
F9052744 Mid shaft € 416,67 1 € 416,67
H56-M-0275 Drive shaft kit LH Complete € 1.167,50 1 € 1.167,50
H56-M-0275 Drive shaft kit RH Complete € 1.167,50 1 € 1.167,50
44014-SB0-C00 CV Joint Wheel side Honda Legend € 200,00 2 € 400,00
H56-M-0050 Mid shaft support € 333,33 € -
LUBRICATION SYSTEM -

H56-0-0088-2 CATCH TANK ASSEMBLY € 106,33 € -

H55-0-0510-1 il Cooler AIR/AIR € 476,67 € -
H56-0-0197 OIL PIPE-ENGINE TO COOLER TO ENGINE € 118,33 € -

AIR PRESSURE PLUMBING -
H55-A-0760 INTERCOOLER ASSY € 784,14 € -
H56-A-0199 AIR PRESSURE PLUMBING COMPRESSOR OUTLET PIPE € 308,33 € -
H56-A-0102 AIR PRESSURE PLUMBING INTERCOOLER OUTLET PIPE € 446,67 € -
MNC-DR-25-60-N STRAIGHT SILICONE RUBBER HOSE-BLACK @int=25mm L=60mm € 38,33 € -
H56-T-0353 FUEL PRESSURE REGULATOR € 234,00 € -
H56-A-0232 SILICONIC STRAIGHT HOSE COMPRESSOR OUTLET € 65,00 € -
H56-A-0233 SILICONIC ADAPTOR STRAIGHT ENGINE AIR INLET € 156,00 € -
H56-A-0242 AIRBOX ASSY € 305,33 € -
ACCDARI-150 ENGINE AIR FILTER 50 MICRON € 145,00 2 € 290,00
COOLING SYSTEM -
H56-1-0290 WATER RADIATOR € 264,29 € -

H56-1-0068-2 RADIATOR DUCTING ASSY € 1.857,14 € -

19101-R3L-GO1 HEADER TANK ROAD CAR € 53,33 € -

ABA-38-50 METALLIC CLAMP ABA38-50 € 2,33 € -
TURBO ASSEMBLY -

189000-KTC-0000 TURBOCHARGER UNIT € 4.142,86 € -

H55-K WASTE GATE UNIT € -
Airjack system -

JAS-H56-LL03 AIR JACK LANCE € 390,00 1 € 390,00

LL-16-PLUS AIR JACK PLUG VALVE € 228,57 € -
Interior equipment -

H55-5-0930 SEAT FIBRE GLASS € 468,57 € -

H55-5-0931 SEAT BELTS (with Ringbolt UNF 7/16-20) € 170,00 € -

H55-5-0121-2 SEAT BRACKET LH € 49,17 € -

H55-5-0122-2 SEAT BRACKET RH € 49,17 € -
NA/1870/T SIDE WINDOW NYLON MESH € 55,71 € -
DA-802HF-71 SEAT BELTS € 158,57 € -

0DS/020 STEERIGN WHEEL QUICK REALSE € 238,57 € -

CONTROL CONSOLE HOUSING € -

72-603 PEDALBOX ASSEMBLY € 1.114,29 € -

H55- BRAKE FLUID RESERVOIR € 127,14 € -

72-260 TILTON BALANCE BAR € 82,86 € -

CP2623-93PRT160 BRAKE AP PUMP 13/16 € 131,43 € -

CP2623-92PRT115 BRAKE AP PUMP 3/4" € 131,43 € -

CP2623-905PRT115 BRAKE AP PUMP 16,1mm € 131,43 € -
POWER STEERING SYSTEM -

53601-TV0-GO1 STEERING RACK € 2.142,86 € -
H56-G-0058 STEERING ARM COMPLETE € 250,00 € -

Electronics -
SBS40 BATTERY 12V 40AH € 261,43 € -




RY1416010-1 MASTER SWITCH 300 AMP € 114,29 € -
H56-G-0042-1 Steering wheel paddles for CIVIC € 1.400,00 € B
H56-Q-0151 Chassis Harness(Complete chassis Front to rear all in one piece) € _ € _
H55-Q-Bootlid harness Bootlid harness P - " -
H55-Q-Data Data Logger harness € - I3 -
H55-Q-Wheel speed Wheel speed harness FR/RR € _ € ~
H55-Q-fuse box FUSE BOX 90/110A E-BOX . - . -
H55-Q-Cable Mail Power cable to PCM € B € .
H55-Q-Cable Mail Power cable from Battery to Starter € B € B
H55-Q-PCM Power control module(PCM) € _ € _
H55-Q-Exinghuiser EXTINGUISHER WIRING LOOM € i € i
H56-R-0171 CONTROL CONSOLE € _ € ~
Clutch_and_accessories
H55-J-0460 CLUTCH ASSY € 583,33 € -
H25-L-001 CLUTCH STUD € 13,33 € -
D-KAY-M8X125 KAY NUT M8X1,25 € 1,00 € -
FRONT RIGHT DOOR ASSY
67010-TV0-E00ZZ FRONT RIGHT DOOR PANEL NO INTERNALS € 550,00 € -
FRONT LEFT DOOR ASSY
67050-TV0-E002Z FRONT LEFT DOOR PANEL NO INTERNALS € 550,00 € -
REAR LEFT DOOR ASSY
67550-TV0-E002Z REAR LEFT DOOR PANEL NO INTERNALS € 507,14 € -
REAR RIGHT DOOR ASSY
67510-TVO-E00ZZ REAR RIGHT DOOR PANEL NO INTERNALS € 507,14 € -
GEARBOX ASSY
ST82-17 TCR2016 GEARBOX ASSY SADEV(WITH SLAVE CYLINDER AND PIPES) NO EXTERNAL PRELOAD € 13.992,86 € -
H55-BV6 ST82-17PRE GEARBOX ASSY SADEV(WITH SLAVE CYLINDER AND PIPES) EXTERNAL PRELOAD € 14.421,43 € -
H56-M-0065-1 Bellhousing assy € 565,00 € -
H55-M-0824 PADDLE SHIFT VALVE UNIT COMPLETE WITH PIPES AMD QR'S € 2.883,33 € -
31200-RRA-A51 Starter motor € 900,00 € -
ENGINE ACCESSORIES
H55-)-0276 ENGINE MOUNT RH SIDE € 275,00 € -
H55-)-0277-1 GEARBOX MOUNT GEARBOX SIDE € 225,00 € -
H55-M-0773 REAR ENGINE MOUNT LINK ASSY € 75,00 € -
BONNET ASSY
H55-C-0554 BONNET(PAINTED WITH HOLE FOR PBONNET PINS AND CENTRAL LOUVRE) € 650,00 € -
H55-C-0555 BONNET LOUVRE CENTRAL € 238,33 € -
120-2000 AEROCATCH KIT SOPRA PANNELLO € 102,48 € -
H55-Set-up CAR SET WITH SET UP BUSHESES FOR FRONT AND REAR SUSPENSION € 583,33 € 583,33
Engine
K20C1 Base engine Civic TCR, no harness, no alternator, No flywheel, € 9.450,00
l Total | € 16.099,37 |




